Crossword Puzzle

ACROSS o
The ear that represents litter
number on a pig.
This mineral is an antagonist to
copper.
Calcium, magnesium,
phosphorus areall ____.
An abnormal condition
in ruminants caused by an
accumulation of gas.

. A common ingredient added
to rations to help prevent feed o °
separation.

. A name for goat meat.

. All of an animal’s offspring is
know as its . o 15 ] 17 ]

. The basic classification for non-
humped cattle.
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. Aninternal parasite.
. The first milk the mother produces.
[ . Abnormal or difficult labor is known as
. Acow's is 21 days long.
. Adigestive ailment often caused by livestock eating
rations too high in grain.
f 8. The most essential nutrient for all livestock

10. The prebiotic found in all Sure Champ® products.
11. A mineral that is toxic to sheep.

For additional livestock nutrition and stock show resources, visit surechamp.com/blog.
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For additional livestock nutrition and stock show resources, visit surechamp.com/blog.




